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33.	 With reference to the Manipuri dance form, 
consider the following statement;
1.	 It traces its origin to Lai Haraoba 

dance.
2.	 It is a pure lasya form of dance with 

soft graceful movements.
3.	 There are references of stories of Shiva 

and Parvati in the dance.

	 Which of the statements given above is/ are 
correct?
(a)	 1 only
(b)	 1 and 3 only
(c)	 2 and 3 only
(d)	 1, 2 and 3

34.	 With reference to the Rajasthani school of 
painting, consider the following statement:
1.	 These are mainly secular paintings 

taking inspiration from the prevailing 
society.

2.	 Malwa style of painting comes under 
this school.

	 Which of the statements given above is/are 
correct?
(a)	 1 only
(b)	 2 only
(c)	 Both 1 and 2
(d)	 Neither 1 nor 2

35.	 With reference to the Vesara style of 
temple architecture, consider the following 
statements;
1.	 It has characteristics of both nagara and 

dravida styles of temple architecture.
2.	 In Karnataka region, temples of this 

style can be found.

	 Which of the statements given above is/ are 
correct?
(a)	 1 only
(b)	 2 only
(c)	 Both 1 and 2
(d)	 Neither 1 nor 2

36.	 With reference to the Adi Granth, a sacred 
literary source, consider the following 
statements:
1.	 It was compiled during the aegis of 

fifth Sikh guru Arjun Dev.
2.	 It is the predecessor of Guru Granth 

Sahib.
3.	 It contains hymes of the Sikh Gurus 

and various early and medieval saints 
of different religions and castes.

	 Which of the statements given above is/are 
correct?
(a)	 1 only
(b)	 1 and 3 only
(c)	 2 and 3 only
(d)	 1, 2 and 3

37.	 Consider the following pairs:
New Year Festival		  State
1.	 Gudi Pava	 —	 Maharashtra
2.	 Puthanadu	 —	 Kerala
3.	 Vishu	 —	 Tamil Nadu

	 Which of the pairs given above is/are 
correctly matched?
(a)	 1 only
(b)	 1 and 3 only
(c)	 2 and 3 only
(d)	 1, 2 and 3 

38.	 Which of the following have been declared 
as Classical Languages in India?
1.	 Tamil
2.	 Odia
3.	 Hindi
4.	 Pali

	 Select the correct answer using the code 
given below:
(a)	 1 and 2 only
(b)	 1, 3 and 4 only
(c)	 2 and 3 only
(d)	 1, 2, 3 and 4 


